
MATHS

BOOKS - NCERT EXEMPLAR

SIMPLE EQUATIONS

Example

1. The solution of the equation  IS

A. 

3x + 5 = 0

−5

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fbC11dhWuuK8


B. 

C. 

D. 5

Answer: A

Watch Video Solution

−5

5

3

2.  is not a solution of the equation

A. 

B. 

−1

x + 1 = 0

x − 1 = 2

https://dl.doubtnut.com/l/_fbC11dhWuuK8
https://dl.doubtnut.com/l/_gpSnvWPh8LhT


C. 

D. 

Answer: B

Watch Video Solution

2y + 3 = 1

2p + 7 = 5

3. Which of the following equations can be

formed using the expression x = 5:

A. 

B. 

2x + 3 = 13

3x + 2 = 13

https://dl.doubtnut.com/l/_gpSnvWPh8LhT
https://dl.doubtnut.com/l/_LXYw7n2tThuW


C. 

D. 

Answer: A

Watch Video Solution

x − 5 = 1

4x − 9 = 21

4. Any value of the variable which makes both

sides of an equation equal, is known as a ______

of the equation.

Watch Video Solution

https://dl.doubtnut.com/l/_LXYw7n2tThuW
https://dl.doubtnut.com/l/_ovsZJAQAVbKP


5. The root of the equation  is

________.

Watch Video Solution

y − 13 = 9

6. ________  has the solution – 4.

Watch Video Solution

2x + = 11

7. 12 is a solution of the equation

4x − 5 = 3x + 10

https://dl.doubtnut.com/l/_AWe9bsN0EM31
https://dl.doubtnut.com/l/_xvWB825nB29l
https://dl.doubtnut.com/l/_itxfFUVefGpy


Watch Video Solution

8. A number x divided by 7 gives 2 can be

written as 

Watch Video Solution

= 2
x + 1

7

9.  and  have the same

solutions.

Watch Video Solution

x + 2 = 5 3x − 1 = 8

https://dl.doubtnut.com/l/_itxfFUVefGpy
https://dl.doubtnut.com/l/_9ch82BLnWwlH
https://dl.doubtnut.com/l/_qyeM6sybcINy
https://dl.doubtnut.com/l/_NCSF6phKGFzW


10. The equation  has 1 as its

solution.

Watch Video Solution

3x + 7 = 10

11. One fourth of a number is 20 less than the

number itself.

Watch Video Solution

https://dl.doubtnut.com/l/_NCSF6phKGFzW
https://dl.doubtnut.com/l/_BSbnUOXEs01y


12. On subtracting 13 from 3 times of a

number, the result is 8 .

Watch Video Solution

13. Two times a number increased by 5 equals

9.

Watch Video Solution

https://dl.doubtnut.com/l/_p1u87bNNRPiH
https://dl.doubtnut.com/l/_NuMsGF9pPgLG


14. 9 added to twice a number gives 13. Find

the number.

Watch Video Solution

15. 1 subtracted from one third of a number

gives 1. Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_geaZicJri3t6
https://dl.doubtnut.com/l/_uUQb1ilIr5Au


16. Sum of two numbers is 60, one is four

times the other, then the numbers are ___.

Watch Video Solution

17. Solve the riddle “What is too much fun for

one, enough for two, and means nothing to

three?” The answer to this is hidden in the

equations given below. 

If  , then c = ? If  , then e =

? 

4c = 16 4e + 8 = 20

https://dl.doubtnut.com/l/_LVprtoP3F6as
https://dl.doubtnut.com/l/_nsX7BiXhccFB


If  , then r = ? If , then t

= ? 

If , then s= ? 

To get the answer substitute the numbers for

the letters it equals in the following: manner : 

Watch Video Solution

2r − 3 = 7 3t + 8 = 29

2s + 4 = 4s

18. Solve the following equation

Watch Video Solution

10 = 4 + 3(t + 2)

https://dl.doubtnut.com/l/_nsX7BiXhccFB
https://dl.doubtnut.com/l/_xb8yuuO4sqHy


Exercise Choose The Correct Answer Objective

Question

1. The solution of the equation  is

A. 

B. 

C. 

D. 

Answer: C

ax + b = 0

a

b

−b

−
b

a

b

a

https://dl.doubtnut.com/l/_xb8yuuO4sqHy
https://dl.doubtnut.com/l/_34asaSaOIYen


Watch Video Solution

2. If a and b are positive integers, then the

solution of the equation  will always be

a

A. positive number

B. negative number

C. 1

D. 0

Answer: A

ax = b

https://dl.doubtnut.com/l/_34asaSaOIYen
https://dl.doubtnut.com/l/_AkCCJwuWLkuV


Watch Video Solution

3. Which of the following is not allowed in a

given equation?

A. Adding the same number to both sides

of the equation.

B. Subtracting the same number from both

sides of the equation.

C. Multiplying both sides of the equation

by the same non-zero number.

https://dl.doubtnut.com/l/_AkCCJwuWLkuV
https://dl.doubtnut.com/l/_6N1ynjHvLGGR


D. Dividing both sides of the equation by

the same number.

Answer:

Watch Video Solution

4. The solution of which of the following

equations is neither a fraction nor an integer?

A. 

B. 

2x + 6 = 0

3x − 5 = 0

https://dl.doubtnut.com/l/_6N1ynjHvLGGR
https://dl.doubtnut.com/l/_yo87WT9qhTvB


C. 

D. 

Answer:

Watch Video Solution

5x − 8 = x + 4

4x + 7 = x + 2

5. The equation which cannot be solved in

integers is

A. 

B. 

5y − 3 = − 18

3x − 9 = 0

https://dl.doubtnut.com/l/_yo87WT9qhTvB
https://dl.doubtnut.com/l/_EFcBzBaMURsN


C. 

D. 

Answer:

Watch Video Solution

3z + 8 = 3 + z

9y + 8 = 4y − 7

6. If .then x is equal to

A. 

B. 

C. 2

7x + 4 = 25

29

7

100

7

https://dl.doubtnut.com/l/_EFcBzBaMURsN
https://dl.doubtnut.com/l/_Ky17hveqskfo


D. 3

Answer:

Watch Video Solution

7. The solution of the equation

 is

A. 

B. 

C. 9

3x + 7 = − 20

17

7

−9

https://dl.doubtnut.com/l/_Ky17hveqskfo
https://dl.doubtnut.com/l/_lwtSgPlb9Y1P


D. 

Answer:

Watch Video Solution

13

9

8. The value of y for which the expressions

 and  become equal is

A. 0

B. 16

C. 8

(y– 15) (2y + 1)

https://dl.doubtnut.com/l/_lwtSgPlb9Y1P
https://dl.doubtnut.com/l/_wHTiNH3hjlPf


D. 

Answer:

Watch Video Solution

−16

9. If , then the value of  is

A. 0

B. 1

C. 112

D. 56

k + 7 = 16 8k– 72

https://dl.doubtnut.com/l/_wHTiNH3hjlPf
https://dl.doubtnut.com/l/_Bnj2IIP2CbWb


Answer:

Watch Video Solution

10. If 43m = 0.086, then the value of m is

A. 

B. 

C. 

D. 2

Answer:

0.002

0.02

0.2

https://dl.doubtnut.com/l/_Bnj2IIP2CbWb
https://dl.doubtnut.com/l/_AC2j165RFXzu


Watch Video Solution

11. x exceeds 3 by 7, can be represented as

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x + 3 = 2

x + 7 = 3

x − 3 = 7

x − 7 = 3

https://dl.doubtnut.com/l/_AC2j165RFXzu
https://dl.doubtnut.com/l/_fZygnXMxqyzf


12. The equation having 5 as a solution is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4x + 1 = 2

3 − x = 8

x– 5 = 3

3 + x = 8

https://dl.doubtnut.com/l/_fZygnXMxqyzf
https://dl.doubtnut.com/l/_aO7NwqgNhgvm


13. The equation having  as a solution is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

– 3

x + 3 − 1

8 + 2x = 3

10 + 3x = 1

2x + 1 = 3

https://dl.doubtnut.com/l/_QQi5Zr1NbQRP


14. Which of the following equations can be

formed starting with  ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x = 0

2x + 1 = − 1

+ 5 = 7
x

2

3x − 1 = − 1

3x − 1 = 1

https://dl.doubtnut.com/l/_NVDBvkH7VAEX
https://dl.doubtnut.com/l/_3PCUnqLlbXlJ


15. Which of the following equations cannot

be formed using the equation  ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x = 7

2x + 1 = 15

7x– 1 = 50

x– 3 = 4

− 1 = 10
x

7

https://dl.doubtnut.com/l/_3PCUnqLlbXlJ


16. If ,then the value of 3x + 2 is

A. 20

B. 11

C. 

D. 8

Answer:

Watch Video Solution

= 3
x

2

13

2

https://dl.doubtnut.com/l/_CYUD4MvyvlK7


17. Which of the following numbers satisfy the

equation ?

A. 2

B. 6

C. 

D. 

Answer:

Watch Video Solution

−6 + x = − 12

−6

−2

https://dl.doubtnut.com/l/_ip3B1gjdsG0i
https://dl.doubtnut.com/l/_HdwFbYhfbApc


18. Shifting one term from one side of an

equation to another side with a change of

sign is known as

A. commutativity

B. transposition

C. distributivity

D. associativity

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HdwFbYhfbApc


Exercise Fill In The Blanks

1. The sum of two numbers is 18 and their

difference is 16. Find the two numbers.

Watch Video Solution

2. The sum of two numbers is 60 and their

difference is 30. 

If smaller number is x.

The difference of numbers in term of x is

________.

https://dl.doubtnut.com/l/_RlLj5jPpIDV3
https://dl.doubtnut.com/l/_9JjPMwuXHZ1f


Watch Video Solution

3. The sum of two numbers is 60 and their

difference is 15. Then the equation formed is

______.

Watch Video Solution

4. The sum of two numbers is 56 and their

difference is 22. Then the solution of the

equation is _______ .

https://dl.doubtnut.com/l/_9JjPMwuXHZ1f
https://dl.doubtnut.com/l/_taZhpg3H5auA
https://dl.doubtnut.com/l/_UOGq3HNsYxis


Watch Video Solution

5. Substitute the values and find the solution

for the equation 3x + 5 is equal to 23.

Watch Video Solution

6. Sum of two numbers is 81. One is twice the

other. 

If smaller number is x, the other number is

_______.

Watch Video Solution

https://dl.doubtnut.com/l/_UOGq3HNsYxis
https://dl.doubtnut.com/l/_SCY69r9qZJhC
https://dl.doubtnut.com/l/_XL0sZuUSXOin


7. Sum of two numbers is 81. One is twice the

other. Then the equation formed is ______.

Watch Video Solution

8. The sum of two numbers is 43 and their

difference is 23. The solution of the equation

is _______ .

Watch Video Solution

https://dl.doubtnut.com/l/_XL0sZuUSXOin
https://dl.doubtnut.com/l/_6eNEnhi3Zv4m
https://dl.doubtnut.com/l/_Vg50kBjiZBId
https://dl.doubtnut.com/l/_SlsqjGSwE5Uf


9. The sum of two numbers is 60 and their

difference is 30. Then the numbers are _____

and _______ .

Watch Video Solution

10. In a test Abha gets twice the marks as that

of Palak. Two times Abha.s marks and three

times Palak.s marks make 280. 

If Palak gets x marks, Abha gets ________marks.

A. 80

https://dl.doubtnut.com/l/_SlsqjGSwE5Uf
https://dl.doubtnut.com/l/_VfIwR3h7Q2oE


B. 40

C. 60

D. 100

Answer: A

Watch Video Solution

11. The sum of two numbers is 73 and their

difference is 55. The equation formed is ______.

Watch Video Solution

https://dl.doubtnut.com/l/_VfIwR3h7Q2oE
https://dl.doubtnut.com/l/_viq6jChkL69R


12. The sum of two numbers is 60 and their

difference is 30. Then the solution of the

equation is _______ .

Watch Video Solution

13. Marks obtained by Abha are _______.

Watch Video Solution

https://dl.doubtnut.com/l/_hPHkeQiXmKb8
https://dl.doubtnut.com/l/_e6wB3feZs1dN


14. The length of a rectangle is two times its

breadth. Its perimeter is 60 cm. 

If the breadth of rectangle is x cm, the length

of the rectangle is ________.

Watch Video Solution

15. Perimeter in terms of x is _______.

Watch Video Solution

https://dl.doubtnut.com/l/_thjpdskTAwJ1
https://dl.doubtnut.com/l/_fT3ab4lbTyaT


16. The equation formed is ______.

Watch Video Solution

17. The solution of the equation is _______ .

Watch Video Solution

18. In a bag there are 5 and 2 rupee coins. If

they are equal in number and their worth is Rs

https://dl.doubtnut.com/l/_HLxUbPV48R5c
https://dl.doubtnut.com/l/_Yz76NrmMCsJC
https://dl.doubtnut.com/l/_KH5iFis1jgQJ


70, then 

The worth of x coins of Rs 5 each _______.

Watch Video Solution

19. The worth of x coins of Rs 2 each ______.

Watch Video Solution

20. The equation formed is ______.

Watch Video Solution

https://dl.doubtnut.com/l/_KH5iFis1jgQJ
https://dl.doubtnut.com/l/_aNudQy2tufem
https://dl.doubtnut.com/l/_TSBZg3vflsoK


21. A bag contains 15 one rupee coins, 25 two

rupee coins and 10 five rupee coins. There are

_______ 5 rupee coins and _________ 2 rupee

coins.

Watch Video Solution

22. In a Mathematics quiz, 30 prizes consisting

of 1st and 2nd prizes worth Rs 2000 and Rs

1000, respectively are to be given. If the total

https://dl.doubtnut.com/l/_P2qGzIbE0iYi
https://dl.doubtnut.com/l/_o5SmCy3tiHBc


prize money is Rs 52,000, then the number of

first and second prizes to be given are____.

Watch Video Solution

23. In a Mathematics quiz, 30 prizes consisting

of 1st and 2nd prizes
 only are to be given. 1st

and 2nd prizes are worth Rs 2000 and
Rs1000,

respectively. If the total prize money is Rs

52,000 then show
that:

(b)The total value of prizes in terms of x are

_______.

https://dl.doubtnut.com/l/_o5SmCy3tiHBc
https://dl.doubtnut.com/l/_LH4dPu0XnFB6


Watch Video Solution

24. Write all the natural numbers from 2 to 13.

What fraction of them are prime numbers?

Watch Video Solution

25. The solution of the equation  is

_______ .

Watch Video Solution

3x − 2 = 7

https://dl.doubtnut.com/l/_LH4dPu0XnFB6
https://dl.doubtnut.com/l/_gKQUmzGJIyRO
https://dl.doubtnut.com/l/_TXbmTvDg8uUJ
https://dl.doubtnut.com/l/_eOMHzXHgBk18


26. If the sum of two numbers is 39, and one

exceeds the other by 11, then the two numbers

are ___.

Watch Video Solution

27. If , then z = ________.

Watch Video Solution

z + 3 = 5

28. _________ is the solution of the equation

.3x– 2 = 7

https://dl.doubtnut.com/l/_eOMHzXHgBk18
https://dl.doubtnut.com/l/_1BZsRGhNdEbk
https://dl.doubtnut.com/l/_ukTPZtonjmap


Watch Video Solution

29. ___________ is the solution of .

Watch Video Solution

3x + 10 = 7

30. If , then value of  is

_______ .

Watch Video Solution

2x + 3 = 5 3x + 2

https://dl.doubtnut.com/l/_ukTPZtonjmap
https://dl.doubtnut.com/l/_PciQ9Q6kTjkI
https://dl.doubtnut.com/l/_IYY9veeIx7y9


31. In integers,  has_________ solution .

Watch Video Solution

4x– 1 = 8

32. In natural numbers,  has

________solution.

Watch Video Solution

4x + 5 = – 7

33. In natural numbers, has

________ solution.

x − 5 = − 5

https://dl.doubtnut.com/l/_xR3aQEixQ6z0
https://dl.doubtnut.com/l/_yKNhU40q0yAY
https://dl.doubtnut.com/l/_MP94hY5nmG9k


Watch Video Solution

34. In whole numbers,  has

_________ solution.

Watch Video Solution

x + 8 = 12– 4

35. If 5 is added to three times a number, it

becomes the same as 7 is subtracted from

four times the same number. This fact can be

represented as ________ .

https://dl.doubtnut.com/l/_MP94hY5nmG9k
https://dl.doubtnut.com/l/_2bZevi8DX5Ro
https://dl.doubtnut.com/l/_WgAhWRnoDn7b


Watch Video Solution

36.  has the solution _________.

Watch Video Solution

x + 7 = 10

37.  _______ when 3x = 12.

Watch Video Solution

x– 0 =

38. = ________ when 2x = 2.x– 1

https://dl.doubtnut.com/l/_WgAhWRnoDn7b
https://dl.doubtnut.com/l/_trKAtOcE4h9D
https://dl.doubtnut.com/l/_k2QuJZVaztVz
https://dl.doubtnut.com/l/_4uJ96L8LMCts


Watch Video Solution

39.  ________ = 15 : when  .

Watch Video Solution

x − = 6
x

2

40. The solution of the equation 

is _________.

Watch Video Solution

x + 15 = 19

https://dl.doubtnut.com/l/_4uJ96L8LMCts
https://dl.doubtnut.com/l/_ZR7JsGPP7Krg
https://dl.doubtnut.com/l/_bE4m5KDUsX3B


41. Finding the value of a variable in a linear

equation that ___________the equation is called

a________ of the equation.

Watch Video Solution

42. Any term of an equation may be

transposed from one side of the equation to

the other side of the equation by changing

the_________ of the term.

Watch Video Solution

https://dl.doubtnut.com/l/_1exthhCH6H1s
https://dl.doubtnut.com/l/_K92ukGAzesZ3


43. If  , then x = ______.

Watch Video Solution

x =
9

5

18

5

44. If  , then x = __________.

Watch Video Solution

3 − x = − 4

45. If  then x = _________.

Watch Video Solution

x − = − ,
1

2

1

2

https://dl.doubtnut.com/l/_K92ukGAzesZ3
https://dl.doubtnut.com/l/_XbAw4J7ValR9
https://dl.doubtnut.com/l/_fecnmP9bVY5x
https://dl.doubtnut.com/l/_WtImGuQphjqG


46. If  , then x = ________.

Watch Video Solution

− x =
1

6

1

6

47. If 10 less than a number is 65, then the

number is ________.

Watch Video Solution

https://dl.doubtnut.com/l/_WtImGuQphjqG
https://dl.doubtnut.com/l/_RxBdDDBe5ygN
https://dl.doubtnut.com/l/_i1TntrSAy5dK


48. If a number is increased by 20, it becomes

45. Then the number is _________.

Watch Video Solution

49. If 84 exceeds another number by 12, then

the other number is ________.

Watch Video Solution

50. If  , then x = ________.x − =
7

8

7

8

https://dl.doubtnut.com/l/_1zLqp8Hr7QFs
https://dl.doubtnut.com/l/_dKl7O9q8Ufhl
https://dl.doubtnut.com/l/_VOQOselESfrG


Exercise True False

Watch Video Solution

1. 5 is the solution of the equation

.

Watch Video Solution

3x + 2 = 17

2. is the solution of the equation .

Watch Video Solution

9

5
4x– 1 = 8

https://dl.doubtnut.com/l/_VOQOselESfrG
https://dl.doubtnut.com/l/_QPzSPczh1rFx
https://dl.doubtnut.com/l/_UUKMqYs8NSjM


3.  does not have an integer as its

solution.

Watch Video Solution

4x– 5 = 7

4. One third of a number added to itself gives

10, can be represented as  .

Watch Video Solution

+ 10 = x
x

3

https://dl.doubtnut.com/l/_UUKMqYs8NSjM
https://dl.doubtnut.com/l/_mTjYqwqSN7TL
https://dl.doubtnut.com/l/_vSjbOErxJOni


5.  is the solution of the equation 

Watch Video Solution

3

2

8x– 5 = 7.

6. If , then .

Watch Video Solution

4x– 7 = 11 x = 4

7. If 9 is the solution of variable x in the

equation ,  = y , then the
 value of y is
5x − 7

2

https://dl.doubtnut.com/l/_uQucvMYWjwFS
https://dl.doubtnut.com/l/_JQtbtC05TTIh
https://dl.doubtnut.com/l/_xCAAiM7QXIws


Exercise

28.

Watch Video Solution

1. Match each of the equation in Column I with

the appropriate entries in Column II. 

https://dl.doubtnut.com/l/_xCAAiM7QXIws
https://dl.doubtnut.com/l/_rCa4dduqpUF0


Watch Video Solution

2. 13 subtracted from twice of a number gives

3

Watch Video Solution

3. One-fifth of a number is 5 less than that

number.

Watch Video Solution

https://dl.doubtnut.com/l/_rCa4dduqpUF0
https://dl.doubtnut.com/l/_kUcWHkVWwp2P
https://dl.doubtnut.com/l/_3L9XpCN9Yg5S
https://dl.doubtnut.com/l/_1jDnL5P7YD2m


4. A number is 7 more than one-third of itself.

Watch Video Solution

5. Six times a number is 10 more than the

number.

Watch Video Solution

6. If 10 is subtracted from half of a number, the

result is 4.

https://dl.doubtnut.com/l/_1jDnL5P7YD2m
https://dl.doubtnut.com/l/_cNwEW18WNaUH
https://dl.doubtnut.com/l/_47XUmFZW6OXm


Watch Video Solution

7. Subtracting 5 from p, the result is 2.

Watch Video Solution

8. Five times a number increased by 7 is 27

Watch Video Solution

https://dl.doubtnut.com/l/_47XUmFZW6OXm
https://dl.doubtnut.com/l/_7OzYywcrliNn
https://dl.doubtnut.com/l/_4W8Q9BwMyNMr


9. Mohan is 3 years older than Sohan. The sum

of their ages is 43 years

Watch Video Solution

10. If 1 is subtracted from a number and the

difference is multiplied by 1/2 , the result is 7.

Watch Video Solution

https://dl.doubtnut.com/l/_qtS3KbZKXrQM
https://dl.doubtnut.com/l/_kgyujccyp3FM


11. A number divided by 2 and then increased

by 5 is 9.

Watch Video Solution

12. The sum of twice a number and 4 is 18.

Watch Video Solution

13. The age of Sohan Lal is four times that of

his son Amit. If the difference of their ages is

https://dl.doubtnut.com/l/_1uDR6SJPv8NM
https://dl.doubtnut.com/l/_n0QRJIROzzMT
https://dl.doubtnut.com/l/_Xtgtr6iRrBcU


27 years, find the age of Amit.

A. 9 Years

B. 10 Years

C. 11 Years

D. 12 Years

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Xtgtr6iRrBcU


14. A number exceeds the other number by 12.

If their sum is 72, find the numbers.

Watch Video Solution

15. Seven times a number is 12 less than

thirteen times the same number. Find the

number.

A. 3

B. 2

https://dl.doubtnut.com/l/_INfHyxQezZon
https://dl.doubtnut.com/l/_risqMEPHYFBl


C. 4

D. 5

Answer: B

Watch Video Solution

16. The interest received by Karim is Rs 30

more than that of Ramesh. If the total interest

received by them is Rs 70, find the interest

received by Ramesh.

Watch Video Solution

https://dl.doubtnut.com/l/_risqMEPHYFBl
https://dl.doubtnut.com/l/_fbMxxhhmWHv9


17. Subramaniam and Naidu donate some

money in a Relief Fund. The amount paid by

Naidu is Rs. 125 more than that of

Subramaniam. If the total money paid by them

is Rs 975, find the amount of money donated

by Subramaniam.

Watch Video Solution

https://dl.doubtnut.com/l/_fbMxxhhmWHv9
https://dl.doubtnut.com/l/_GEv0co13BpOw


18. In a school, the number of girls is 50 more

than the number of boy The total number of

students is 1070. Find the number of girls.

Watch Video Solution

19. Two times a number increased by 5 equals

9. Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_bnKdrj3JVTOu
https://dl.doubtnut.com/l/_i6ThG83ytjgs


20. 9 added to twice a number gives 13. Find

the number.

Watch Video Solution

21. 1 subtracted from one-third of a number

gives 1. Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_dAfHW2KKvNxG
https://dl.doubtnut.com/l/_7qFzmtMoy8i2


22. After 25 years, Rama will be 5 times as old

as he is now. Find his present age .

Watch Video Solution

23. After 20 years, Manoj will be 5 times as old

as he is now. Find his present age

A. 2 years

B. 3 years

C. 4 years

https://dl.doubtnut.com/l/_roLBcMVP7EwT
https://dl.doubtnut.com/l/_w8hJEnbX55QC


D. 5 years

Answer: D

Watch Video Solution

24. My younger sister's age today is 3 times

what it will be 3 years from now minus 3 times

what her age was 3 years ago. Find her

present age.

Watch Video Solution

https://dl.doubtnut.com/l/_w8hJEnbX55QC
https://dl.doubtnut.com/l/_V21dKrjhDT6l
https://dl.doubtnut.com/l/_PbjJDeFMWY8v


25. If 45 is added to half a number, the result is

triple the number. Find the number .

Watch Video Solution

26. In a family, the consumption of wheat is 4

times that of rice. The total consumption of

the two cereals is 80 kg. Find the quantities of

rice and wheat consumed in the family.

Watch Video Solution

https://dl.doubtnut.com/l/_PbjJDeFMWY8v
https://dl.doubtnut.com/l/_RFi5NDMpV8dP
https://dl.doubtnut.com/l/_wDWOXhLdWlCS


27. In a bag, the number of one rupee coins is

three times the number of two rupees coins. If

the worth of the coins is Rs 120, find the

number of 1 rupee coins.

Watch Video Solution

28. Anamika thought of a number. She

multiplied it by 2, added 5 to the product and

obtained 17 as the result. What is the number

she had thought of ?

Watch Video Solution

https://dl.doubtnut.com/l/_wDWOXhLdWlCS
https://dl.doubtnut.com/l/_5yX1aZhV4797


29. One of the two numbers is twice the other.

The sum of the numbers is 12. Find the

numbers.

Watch Video Solution

30. The sum of three consecutive integers is 5

more than the smallest of the integers. Find

the integers.

Watch Video Solution

https://dl.doubtnut.com/l/_5yX1aZhV4797
https://dl.doubtnut.com/l/_4jFs1AcX29In
https://dl.doubtnut.com/l/_IVlTxcQI44mg


31. A number when divided by 6 gives the

quotient 6. What is the number ?

Watch Video Solution

32. The perimeter of a rectangle is 40 m. The

length of the rectangle is 4m less than 5 times

its breadth. Find the length of the rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_IVlTxcQI44mg
https://dl.doubtnut.com/l/_cvJYC10nlN8C
https://dl.doubtnut.com/l/_hE7vqphNapVs
https://dl.doubtnut.com/l/_36WYQrxXcFWc


33. Each of the 2 equal sides of an isosceles

triangle is twice as large as the third side. If

the perimeter of the triangle is 30 cm, find the

length of each side of the triangle.

Watch Video Solution

34. The sum of two consecutive multiples of 2

is 18. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_36WYQrxXcFWc
https://dl.doubtnut.com/l/_jxK6eP6yOmUx


35. Two complementary angles differ by .

Find the angles.

Watch Video Solution

20∘

36. 150 has been divided into two parts such

that twice the first part is equal to the second

part. Find the parts.

Watch Video Solution

https://dl.doubtnut.com/l/_pClIUDiU4AHL
https://dl.doubtnut.com/l/_TfZkQoC9o6tG


37. In a class of 60 students, the number of

girls is one third the number of boys. Find the

number of girls and boys in the class.

Watch Video Solution

38. Two-third of a number is greater than one-

third of the number by 3.Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_559Kh1yP0vp9
https://dl.doubtnut.com/l/_ILTYUPzPlLMf


39. A number is as much greater than 27 as it

is less than 73. Find the number.

Watch Video Solution

40. A man travelled two fifth of his journey by

train, one-third by bus one-fourth by car and

the remaining 3 km on foot. What is the

length of his total journey?

Watch Video Solution

https://dl.doubtnut.com/l/_UtsvlWQy3Evv
https://dl.doubtnut.com/l/_SLm58fyltA6U
https://dl.doubtnut.com/l/_usS7KO5hBvRw


41. Twice a number added to half of itself

equals 24. Find the number.

Watch Video Solution

42. Thrice a number decreased by 5 exceeds

twice the number by 1 .Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_usS7KO5hBvRw
https://dl.doubtnut.com/l/_RvYmQZYgk0Jb


43. A girl is  years younger than her father.

The sum of their ages is  years. Find the

ages of the girl and her father.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

28

50

11, 39

12, 40

13, 34

14, 44

https://dl.doubtnut.com/l/_inKE2HbCbLUW


44. The length of a rectangle is two times its

width. The perimeter of the rectangle is 180

cm. Find the dimensions of the rectangle.

Watch Video Solution

45. Look at this riddle? If she answers the

riddle correctly how ever will she pay for the

https://dl.doubtnut.com/l/_XscaWJvNVeDh
https://dl.doubtnut.com/l/_BN7nFLYU2GsT


pencils? 

Watch Video Solution

46. In a certain examination, a total of 3768

students secured first division in the years

2006 and 2007. The number of first division in

2007 exceeded those in 2006 by 34. How many

students got first division in 2006 ?

https://dl.doubtnut.com/l/_BN7nFLYU2GsT
https://dl.doubtnut.com/l/_oTK0KXLdnChl


Watch Video Solution

47. Radha got Rs. 17,480 as her monthly salary

and over-time. Her salary exceeds the over-

time by Rs . What is her monthly salary ?

Watch Video Solution

10, 000

48. If one side of a square is represented by

 and the adjacent side is represented18x– 20

https://dl.doubtnut.com/l/_oTK0KXLdnChl
https://dl.doubtnut.com/l/_R79syQbQlOS1
https://dl.doubtnut.com/l/_I8dQiQKBpE9Q


by , find the length of the side of the

square .

Watch Video Solution

42– 13x

49. If one of the angles of the triangle is 

and the other two are such that one is triple

the other, then the remaining angles of the

triangle are.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_I8dQiQKBpE9Q
https://dl.doubtnut.com/l/_4SYjOr7lHxuo


50. What does a duck do when it flies upside

down? The answer to this riddle is hidden in

the equation given below: 

If  , then  = ? If  ,

then u = ? 

If  , then a = ? If  ,

then q=? 

If  then t = ? If 

 , then s = ? 

If  then p = _______ ? 


If  , then c = ________ ? 

If  then k = ________ ? 


i + 69 = 70 i 8u = 6u + 8

4a = − 5a + 45 4q + 5 = 17

−5t − 60 = − 70

s + 98 = 100
1

4

p + 9 = 24
5

3

3c = c + 12

3(k + 1) = 24,

https://dl.doubtnut.com/l/_CuniKhTH7BIz


For riddle answer : substitute the number for

the letter it equals 

Watch Video Solution

51. The three scales below are perfectly

balanced if • = 3. What are the values of  andΔ

https://dl.doubtnut.com/l/_CuniKhTH7BIz
https://dl.doubtnut.com/l/_GzVHSGPJKcbY


 ? 


Watch Video Solution

 * 

52. The given figure represents a weighing

balance. The weights of some objects in the

balance are given. Find the weight of each

https://dl.doubtnut.com/l/_GzVHSGPJKcbY
https://dl.doubtnut.com/l/_kAD4w654g3oR


Thick And Discuss

square and the circle . 

Watch Video Solution

1. Solve for x: 

Watch Video Solution

+ 3x − 4 =
8x − 1

2

1 + 2x

3

https://dl.doubtnut.com/l/_kAD4w654g3oR
https://dl.doubtnut.com/l/_voWvJrZtGoCg


2. If sum of two numbers is 31 and their

difference is 23, then the two numbers are ____.

Watch Video Solution

3. Describe how you would solve .

Watch Video Solution

4(x– 2) = 16

https://dl.doubtnut.com/l/_voWvJrZtGoCg
https://dl.doubtnut.com/l/_kO0faxG94h3N
https://dl.doubtnut.com/l/_YnGsxrgj4njC


4. Condition to check solution of simultaneous

linear equations.

Watch Video Solution

5. SIGNIFICANT FIGURES

Watch Video Solution

6. Express n in words in at least two

different ways.

5 + 7

https://dl.doubtnut.com/l/_UhRdDvJsTw9K
https://dl.doubtnut.com/l/_iWDyNM6uIzsI
https://dl.doubtnut.com/l/_DZrAh0wupcnA


Watch Video Solution

https://dl.doubtnut.com/l/_DZrAh0wupcnA

